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Curriculum Framework Alignment and Scoring Guidelines   

Learning Objectives Historical Thinking Skills Key Concepts

WXT-2.0 Explain how patterns of exchange, markets, and 
private enterprise have developed, and analyze ways 
that governments have responded to economic issues.

Comparison 2.1 II
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Scores and Commentary   

Note: Student samples are quoted verbatim and may contain grammatical errors.

Overview

Short-answer question 1 asks students to identify both a similarity and a difference 
between the colonial New England and Chesapeake colonies, and then provide a 
reason for the development of the difference. 

Sample SA-1A
Score: 3

a.	 1 point: This response earns one point for accurately explaining British law 
and the crown as an important similarity between the Chesapeake and New 
England regions. Although the scoring notes specify that merely saying both 
regions were ruled by the British is not enough for a point, this response fleshes 
out this general observation with more detail, such as mentioning the monarchy 
and the sense of unified identity, therefore earning the point

b.	 1 point: This response receives one point for accurately explaining the different 
economies of the colonies. The response specifically indicated that the 
Chesapeake economy was based around the use of indentured servants for 
farming, while New England focused on lumber and fishing. 

c.	 1 point: This response accurately characterizes geography (rich soil and warm 
climate in the Chesapeake region and large forests and easy access to the 
oceans in New England) as the factor that caused the different economies of 
each region described in part B. 

Sample SA-1B
Score: 2

a.	 0 points: This response does not earn the point for identifying an important 
similarity between the regions. It makes a claim that religion was a motivating 
factor for settlement of both colonies, which is accurate only for New England 
and not for the Chesapeake. 

b.	 1 point: This response earns the point for explaining a difference between the 
regions. The response explains a difference (plantations), albeit with a common 
error (industrialism) that does not undermine the explanation or detract from 
the accuracy of the comparison. (Note: Sometimes responses use “industrial” 
to mean colonial-era manufacturing, such as shipbuilding or printing, so the 
term is only a minor error. But sometimes the use of “industrial” indicates that 
the student is referring to the Industrial Revolution, in which case it would be a 
major error.) 

c.	 1 point: This response earns the point for explaining a cause of the difference 
described in part B; in this case, accurately claiming that the “arability” of the 
land in each region accounted for the difference. 
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Sample SA-1C
Score: 1

a.	 1 point: This response earns the point by describing a similarity between the 
two regions. The statement that that settlers in both areas were “prone to 
disease” because “settlers were new to the region” is an accurate similarity. 

b.	 0 points:  This response does not get the point for explaining a difference. 
The assertion that the Chesapeake was “more isolated” than New England 
is incorrect, since both regions were proximate to the ocean and trade with 
England.

c.	 0 points: This response does not earn the point for explaining the cause of the 
difference identified in part B. It is incorrect to say that a reason for differences 
between the regions was that New England traded with Britain more easily 
because the location of the Chesapeake made trade less accessible.  
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